

① ابتدا باید Δ را محاسبه کرد. $(m+3)^2 - 4 \times m \times 7 \leq 0$

از معادله R می‌توانیم m را پیدا کنیم. $(m+3)^2 - 14m \leq 0$

$m^2 - 7m + 9 \leq 0$

مخرج a را بیابیم. $\left. \begin{aligned} &= 2a^2 + (m-2)a^2 + a^2 \\ &2(a)^2 + a^2 = a^2(2a+1) \end{aligned} \right\}$

$a = -\frac{1}{2}$ ✓

$\frac{2 \tan b \lim_{x \rightarrow -\frac{1}{2}} \sqrt{6} |x + \frac{1}{2}|}{\sqrt{\frac{1}{x}} \lim_{x \rightarrow -\frac{1}{2}} \sqrt{6} |x + \frac{1}{2}|} = \frac{\sqrt{6} |x + \frac{1}{2}|}{\sqrt{\frac{1}{x}} |x + \frac{1}{2}|} = \frac{\sqrt{6}}{\sqrt{-\frac{1}{2}}} = \frac{\sqrt{6}}{\sqrt{2}} = \sqrt{3}$

$\frac{2 \tan b}{\sqrt{-\frac{1}{2}}} = \frac{\sqrt{6}}{\sqrt{2}} \rightarrow \tan b = \frac{\sqrt{6}}{\sqrt{2}} \rightarrow b = \frac{\pi}{4}$

$\begin{cases} 1+a+b=0 \\ \Delta-a+b=0 \end{cases} \rightarrow \begin{matrix} b=-3 \\ a=2 \end{matrix} \rightarrow \left[\frac{-3-2(2)}{3} \right] = \left[\frac{-7}{3} \right] = -\frac{7}{3}$

② $\frac{(n-1)(n-b)}{n-1} \leftarrow \frac{n^2 + an + b}{n-1}$

$\Delta n^2 - an + b = 0$

$n=1 \rightarrow \Delta - a + b = 0$

$\Rightarrow \textcircled{1} \{ b - a = -\Delta \}$

$\frac{n^2 - n - bu + b}{a} = 0 \rightarrow 1 + a + b = 0$

$\textcircled{1} \{ a + b = -1 \}$

$\begin{cases} b - a = -\Delta \\ a + b = -1 \end{cases} \rightarrow \begin{matrix} 2b = -7 \\ b = -\frac{7}{2} \end{matrix} \quad \begin{matrix} a = +\frac{5}{2} \end{matrix}$

$\left[\frac{-\frac{7}{2} - 2}{3} \right] = -\frac{11}{6}$

$$f(a) = b(a - [-a]) = b(a + a) = 1 \cdot b$$

$$\lim_{n \rightarrow \infty} f(n) = \lim_{n \rightarrow \infty} \frac{|a^n + a - r|}{r(1-n)} = \lim_{n \rightarrow \infty} \frac{|r a + a - r|}{r(1-a)} = \frac{-ra}{1r} = \frac{-v}{r} \quad \left. \begin{array}{l} \rightarrow 1 \cdot b = \frac{-v}{r} \\ b = \frac{-v}{r} \end{array} \right\}$$

$$\begin{cases} \tan \frac{\pi}{2} = -1 \\ \frac{|a^n + a - r|}{a(1-n)} \sim \frac{a^n}{a(1-n)} \end{cases} \quad \frac{(a+r)(n-1)}{a(1-n)} = -1 \quad \boxed{a = r}$$

$$b(u - [-u]) \quad u > 0$$

$$b(a - (-1)) = 11b$$

$$ab = \frac{-v}{1}$$

$$\frac{|a^n + a - r|}{a(1-n)} = \frac{ra + a - r}{a(-1)} = \frac{ra}{-1a} = \frac{-v}{a} = \frac{-v}{r}$$

$$\frac{-v}{r} = 11b$$

$$b = \frac{-v}{11r}$$

$$ab = \frac{-v}{11r} \cdot r = \frac{-v}{11}$$

$$f(n) = a[n+1] + b[n + [a+1]]$$

$$f(n) = a[n+1] + b[n+1] + b[a]$$

$$f(n) = [n+1](a+b) + b[a]$$

$$\frac{a[a]}{f(a)} = \frac{a[a]}{b[a]} = \frac{a}{b} = -1$$

$$a = -b$$

$$f(n) = b[ra - an] - ra$$

$$b = \dots$$

$$f(n) = -ra$$

$$\boxed{\frac{a}{-ra}}$$

$$\boxed{\frac{-1}{r}}$$

$$ra - ra - ra = \dots$$

$$H \Rightarrow P \quad \frac{ra + m}{-1} = r$$

$$\begin{cases} \frac{ra + m + n}{a - n} \quad n \neq a \end{cases}$$

$$\boxed{ra + m + n = 0} \quad \textcircled{1}$$

$$\boxed{ra + m = -r} \quad \textcircled{1}$$

$$\boxed{ra + m + n = 0} \quad \textcircled{2}$$

$$m = -7 \quad n = 1$$

$$r = a \quad \text{I f}$$

$$ra - ra - ra = \dots$$

$$ra - ra = a(a - r)$$

$$\begin{cases} ra + m = 0 \\ ra + m = -r \end{cases}$$

$$m = -r - ra$$

$$n = (-7)$$

$$\boxed{12}$$

Sam

$$f(n) \neq \dots$$

$$a^r + (m-r)a + a^r = 0$$

⑨

$$\sqrt{r}(a^r + a) = 0 \quad a(a+1) = 0$$

از طرف دیگر

$$\sqrt{r}(a^r + a) = 0 \quad a(a+1) = 0$$

$$-1 + (m-r) - 1 + 1 = 0 \rightarrow m = r$$

$$\frac{\sqrt{r}n+1}{|-n^r-1|} = \frac{\sqrt{r} \cdot 1}{+r \cdot r} \quad \boxed{\frac{\sqrt{r}}{+r}}$$

نشان ده

⑩

$$\frac{n^r + u}{n^r + a} \xrightarrow{H.P} \frac{rn+1}{rn+a} = \frac{1}{a} = \frac{ra-1}{ra+r}$$

نشان ده

$$ra^r - a = ra + r \quad ra^r - ra - r = 0 \quad a^r - ra - r = 0$$

از طرف دیگر

$$n^r + a | n |$$

$$(a-r)(a+1)$$

نشان ده

$$\left(\frac{1}{r} \right)$$

از طرف دیگر

$$f\left(\frac{1}{a}\right) = f(-r) \quad \frac{\varepsilon + r}{\varepsilon + \frac{1}{r} \cdot \left(-\frac{1}{r}\right)} = \frac{r}{r} = 1$$

$$a = r \rightarrow \lim_{n \rightarrow \frac{1}{r}} f(n) = \lim_{n \rightarrow \frac{1}{r}} \frac{n^r + a}{n^r + r} = \frac{\frac{1}{r} + \frac{1}{r}}{\frac{1}{r} + 1} = \frac{\frac{2}{r}}{\frac{r+1}{r}} = \frac{2}{r+1}$$